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37.

41.

42.

TR & STTUR, AT W H WHR F F oA T o e 2 ?

(A) Hfe afem wE Em (B) Triaxdr=mnem
(C) HE-ASAN T @1 R (D) 3TYR &7 WHA HE BN
e fora U w qET /2
(A) e (B) TSI (RNE = (D) STwMEA
Real is the currency of which country ? (@)
(A) Bhutan (B) Canada (C)», Brazil (D) Afghanistan
mmﬁﬁmwﬁwqﬁﬂw%?“ﬂ
(A) FAIRH (B) WERE (C} Etuawra (D) TeE
Ellora is a sacred site in which of the following state-"?
(A) Karnataka (B) Maharashtra (G) Ralasthan (D) Guijarat
H Fee ¥ 3Ye A vee a1 ST E’TU?L@EWQT@H%I
(A) FefERm (B) I-waeifiim  (C) fafym (D) == fegafem
involves changing data prior or during input into a computer.
(A) Catfishing (B) E-mail bombing (C) Smishing (D) Datadiddling

e SAftil S FE i S F1 ferat areli § e fma T 2
The Universal Declaration of Human Rights is translated into how many languages ?
(A) 500 (B) 300 (C}rzoo (D) 400

JYFEI BEA §1H9 9 (PMFBY) 1 & ? *'”_

b

(A) ﬂ%ﬁﬁmaﬁﬁaﬁmm%aﬂtﬁmﬁﬁwﬂ;mﬁwgﬁfmm%l
B) ﬁéﬁﬁ@mmmmﬁ?m%ntﬂ

(C) “ifa®w @t gl 1 |HA mm&m?ﬁtwﬁiﬁﬁmaﬂmﬁﬁ ferg, feramt =t
gfsa<t yem &

(D) tﬂqqr{qﬁﬁarﬁmgﬁaﬁm%ﬁgwm% ﬁ%m@ﬂaﬂﬁﬁmﬁ; AT Y&
FEI 2|

What is the Pradhan Mantri Fasal Bima Yojana (PMFBY) ?

(A) It regulates agricultural markets and ensures fair prices for farmers’ produce.

(B) Supports sustainable production in the agriculture sector.

(C) Supports and promotes organic farming pracllces and provides subsidies to farmers for the
adoption of sustainable agricultural methods

(D) PMFBY improves rural infrastructure and provades employment opportunities to youth in
agricultural communities. L.

TegdtaTE (WPI) 1 Jof ®9 % : =i

(A) B iz g2 (B) BT WiEd s

(C) ot wizw e (D) TR s

The full form of WP is : % J

(A)  Whole Print Index - (B) V\{tlo‘[gsale Price Index
(C) Whole Price Index (D) Wall Price Index
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46.

47.

49.

50.

DDoS &1 Hdt HIH 4

(A) feios fema oifw wfdw (B) fefigsges fema aiw wfdw
(C) fefigsges 2 oiiw wfdw (D) emER feame sife wfdw
Full form of DDoS is :
(A) Detailed Denial of Service (B) Distributed Denial of Service
(C) Distributed Data of Service (D) TDirect Denial of Service
, il
T € H, T Them =t siafie smwer & o 2024 1 w@. S featd SR qeer firen 2
(A) TR e (B) (Sigam-2 favm
(C) <dgam-3 fawm (D) (O entfefer firwm
Recently, which mission received the 2024 JoanL ‘Jack’ Swigert Jr. Award for space exploration ?
(A) Gaganyaan Mission (B) Qhandrayaan -2 Mission
(C) Chandrayaan-3 Mission (D) (_I}ia}’rs Orbiter Mission
TeAife 39U (W EREE) R mF ¥ B
(A) FEElq (B) 3RWUT (C) U= (D) Wi TE
Galilean satellites (or the four moons) belong to which Planet ?
(A)  Jupiter ~(B) Uranus (C) Neptune (D) Saturn
fora f =it yoram Fay foem & w9 J =9 s 2
(A) SHaEd 1 THHU ufER (B) #g = gen feA
(C) W& ol THY GHaR (D) -HTE 1 Ygal HeaR
Which day is observed as No Smoking Day ?° =
(A) Third Saturday of January (B) ?Flrst Day of May

(C) Second Wednesday of March (D) CFirst Tuesday of March
wHierehl g wRitaa el OTT |l - ﬁﬁmmﬁ%mﬁwm?

(A) T T (B) :__ﬁsna BILEHE

(c) fTafaa str=ami (D) ig@raﬁgm

Who directed the critically acclaimed Netflix OT:I’:éenes Delhi Crime ?

(A) Richie Mehta (B) I'Vishal Bharadwaj

(C) Nikhil Advani (D) Hansal Mehta

HI | W 2021 H forshled o1 HIE qg1 & €9 § TGN HEA A Tgell <0 S T4 2

(A) Tazmwis (B) ST (C) SimaH (D) 7@ dWeaer
Which country became the first to make use of Bitcoin as a legal tender in 2021 7

(A) Switzerland (B) Venezuela (C) Japan | (D) ElSalvador

ASEAN (m)%ﬁﬂﬁwﬁ'wiﬁ%\; T T e © 2

(A) Feifas aewifitn % S ot § O

(B) SrerMEaTE! Sfifadi Y sigmen <t §

(C) ﬁw—ﬁqﬁm@%ﬁ%maaﬁ%w&aﬁhmﬁéﬁaﬁmﬁ%
(D) AR ETE FH FE & \

In relation to ASEAN, what is the importance owia's Act East policy ?
(A) Limits diplomatic engagement

(B) Promotes isolationist policies N ;
(C) Enhances economic, strategic, and cultural ties with Southeast Asian countries
(D) Reduces trade opportunities
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51. a1 § forad <m0 ":ﬁ\_!ﬁ 872
How many countries are present in Africa 2\
(A) 54 (B) 52 O1c) 56 (D) 50

52. wﬁﬂmw(@ﬁmam%wg@a’mw%?
(A) {ﬁqﬁwﬁﬁsﬁ%mﬂmm AR @l & & W9 S|
(B) <fau-yd uftrn & @iy anfw ol m&haﬁwmu
(C) Wﬁ?%ﬁﬂ?‘fﬁfﬁﬂﬂaﬁméﬂn
) JUdE "@E % I o Wy el ol %‘%{ﬁﬂnm|

What is the main purpose of India’s Look East Policy ?

(A) Enhance cultural exchanges and people-to-people contacts with countries in East Asia.
(B) Strengthening economic and strategic ties with Southeast Asia.

(C) Promote agricultural development within India.

(D) Improve relations and trade with European Union countries.

53, BWIS, HIYIEE AR UL E :

(A) frEw (8) Tt dHufg ((C) o7 Hufd (D) =duH Tufd

Trademarks, copyrights and patents are : 5

(A) Investments (B) Fixed assets s~ gC) Intangible assets (D) Current assets
54, ¥ Gent aifafm, 1956 mw%mmﬁm%?

(A) W = (B) =& = i (C) Ware (D) =IEEIaE

National Highways Act, 1956 is applied to which tax policy ?

(A) Entry tax (B) Tolltax £=(C) Service tax (D) Professional tax

55. Tyefafad § 9 =19 Tee T T arEe S T Afuta (MGNREGA) #i U fagmar €2
(A) Faa T giHE H ded wE
(B) ¥R ISR Suet= Tl
(C) ufa=d 100 fg7 & a7 JsR =t T
(D) frsit &= ¥ I =t TeHw

Which of the following is a feature of the Mahatma Gandhi National Rural Employment Guarantee Act

(MGNREGA) ? o
(A) Targeting only skilled labor N
(B) Providing urban employment &P

(C) Guaranteeing 100 days of wage employment per year
(D) Offering employment in the private seg:s_g;

56, g ¥ U gy feow fea wén ® T Sl e )

(A) fegs (B) SH CVlc) faa=r (D) &
National Milk Day is observed in India, in whlch rnonth 7
(A) December (B) June o\ q(C) September (D) November
57. T TRY ¥ IeUS B W URUNE T T ST eHT FEH e 3N wfed Feaeh - T we= S 2 ?
(A) =t (B) Hferget (C) W (D) HTF

Which traditional dance form originating from Uttar Pradesh is recognized for its dramatic storytelling
and intricate footwork ?

(A) Chhau (B) Kuchipudi (C) Bharatnatyam (D) Kathak
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58, @ gt o TR N TaESE W g
(A) @ AR TElaE T frm fafis
B) feam sitaw SRR fafins I\
©) W\ Witk fafire (GAIL) |
(D) wE UAfaam

Which company has beco
Exchange ?

(A)  Oil and Natural Gas Corporation Ltd
(B) Indian Oil Corporation Li?nited -

(C) GasAuthority of India Limi ™)
(D) Bharat Pg:ggum dia Limited (GAIL)

59. iaa -ﬁf{w a_g -f mmﬁmuw m,,wm%?
(A) &R 1 Ik oo < e foren wen
(B) T w1 St swE fFn St €
(C) T T% WS =afem o e & Wi ¥ oiv wifor 2

(3

ST hT At A 1 UgeH I o TS § 2

|

4
(’
2

.
-
Loa

2

Q
3_2 :‘_: \:J] E!

-

5
Ty,

me the first C
|

pany in India to trade domestic gas on Indian Gag

7

o

¢

=

J

(D) @\ T st =t wem afw §
What does “verified account” signify on so¢
(A)  The account is used for advertising
(B) The accountis frequently used ¢ .=

(C) The account belongs to a public figlife-or organization and is authenticated
(D) The account has a high number of followers |

60. 1942 F NG DI MAeH F THI WRA BT F A 2

iél media platforms like Twitter and Instagram ?

(A) wiE TR (B) it femfaemi= (C) wrE ¥ (D) € H¥EEA
Who was the Viceroy of India at the time of:the Quit India Movement in 1942 ?
(A) Lord Irwin (B) LordLinlithgow? (C) LordWavell (D) Lord Mountbatten

61. A &1 T I UBRE $H 982
(A) TR ST SUEEd, 2SUEeE
(B) HRH WS, shietshral
(C) T Huee™, =8 feeai
(D) Bufa fRrarst HerRs avg SuweE, He
Which is the largest museum in India ? =
(A) Salar Jung Museum, Hyderabad
(B) Indian Museum, Kolkata
(C) National Museum, New Delhi L)
(D) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbai

62. Frefafas & @ $i9 a1 39 wanmeen § frifia.Fie doem W w0 ST e 39 912

(A) W (B)) Tga T ARGH

(C) 7z fhrew (D)) wifeTa I

Which of the following countries was the.first to achieve controlled nuclear fusion in a laboratory
setting ? iy

(A) France (B) United States of America

(C) United Kingdom (D) Soviet Union

63. I oI siaddia dfy s=i o Sifuerl W s §2
Which international treaty focuses on the rights of children ?
(A) CEDAW (B) ICCPR (C) ICERD (D) CRC

= e e L
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64.
(A) @F ST (B) «iHH Bt (C) fo= Trem (D) TH.TH. FHME
Famous book “The Return of the Native' is written by whom ?
(A) Lioy Douglas (B) Thomas Hardy (C)-. Bill Gates (D) M.M.Kaya
65. dferaen #t g @ ITC % of wq 11 ¥ 2 '
(A) SSRAA N HUAI &
(B) @ ¢ wMH (Hidfew =R anfosd) -
(C) T o9 Hmd (iafer Y aifvred)
(D) TAYE = wfse “‘
In terms of economy, what is the full form of ITC '?—- |
(A) International Tax Company —__
(B) Internal Trade Commerce e
(C) Internal Tax Commerce
(D) Input Tax Credit
66. WG H 'OwH WA &' FME?
(A) W el i aend fadedt e
(B) UA-wrEE TR it
(C) v # e ferleft sfvram
(D) e fadedl s
What is the ‘Operation Green Hunt' in India ?
(A) Anti-drug trafficking operation
(B) Anti-piracy operation
(C) Counter-insurgency operation in Kaghmir
(D) Anti-Naxalite operation i
67. 2014 F IR & e Wi TeERR foRe Wi R ?
(A) T I (B) =feam HX= () sl (D) T g
Who received the Nobel Peace Prize in 2014 in India ? '
(A) MotherTeresa (B) NadiaMurad (C) Amartya Sen (D) Kailash Satyarthi
68. =&Y 2021 § T & i ¥ yEIfE@ 2000 THF & A= w1 4 (¥93 feferam #) wn € ?
What is the value (in INR trillion) of Rs. 2000 notes circulated at the end of March in the year 2021 ?
(A) 2.00 (B) 6.00 (C) 4.90 (D) 1.90
_--__-E- |
69. TiFHEH M HE Wt wida frEsh W R? g
(A) W@ % e = (B) WA
(C) wgdfa (D) WER SreAE
Who has the power to dissolve Lok Sabha ? ;‘! 1
(A) Chief Justice of India (B) Prime Minister
(C) President _ (D) Speaker of Lok Sabha
70. Vel &5 ¥ ST @twmﬁmﬁwﬁmmﬁmﬁa?ﬂﬁaﬁmm%
(A)  ETvErH (B) wthe ST (C) "R Tem (D) WA
The economically secure white people migrated from urban areas to suburbs is called :
(A} Immigration (B) White flight (C) Black flight (D) Migration
MY2-24 9 P.T.O.
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71, ifafsget B E 2 .
(A) it ST e dEl 6 ST B §
(B) JFTs S CIRIER 1 ST &y §
(C) i St STEll SIHERl & T8N awaﬂ%%
(D) s S U & SRR s&zrq-—:wa%_
Who are ethologists ?
(A)  Scientists who study only plants .i_,,,-’:_‘
(B)  Scientists who study ethos [
(C) Scientists who study the behaviour of wnd animals
(D) Scientists who study the behaviour of hu[naﬁs
72, ﬁﬁﬂmﬁmmﬁmaﬁ__mmmm% SECRC aﬁﬁaaaaﬁrﬁ#m
(A) 10-11 &/ g (B) 7-8 <@ (C) 4-5@m@ (D) 1-2<md .
The financial or the banking system will receive an additional boost in terms of Crore of
base money each year.
(A)  10-11lakh (B) 7-8lakh (C) 4-5lakh (D) 1-2lakh
73. SAARC & Haod 1 & ?
(A) TRU-IR AR TR R S Sieiies
(B) WY AR THIfauYE wR doa Histned
(C) oSy WREE THifauem i Isier wisiawm
(D) WISY AWHiHT THTETEH B I5=a ﬂm’{aﬁ;
SAARC stands for :
(A) Southeast Asian Association for Reglonal COOperauon
(B) South American Association for Regional’ Cooperatlon
(C) South Asian Association for Regional Cooperation
(D) South African Association for Regional Cooperatlon
74. FicieRl i TEE YT F T ? Fsd
(A) Tf@ (B) w4t (C) = (D) =
The national currency of Sri Lanka is :
(A) - Ringgit (B) Rupee ' (C) Euro . (D) Kyat
75. I G SW AU G SHrArgEt uigyd % HRU Y- Sl o Sds STEr % fae s i § 2
(A) T (B) =i [(C) wEEs (D) siefe=
Which country is known for its extensive use c:] geothermal energy due to its unique volcanic
landscape ?
(A) Brazil (B) Norway %--(G)_ lceland (D) Australia
76. AT 1 A 1 U forEE =i @ wiEd 40 wia‘fmymaﬂwomﬁfmﬁm%mﬁ%ﬁﬁﬁm
1T A foeran ST e Wi g S 32 WIﬁﬁhnmméaﬁmﬁémﬂmaﬁwav
The ratio of quantities of sugar in which sugar costlng Rs. 40/kg and Rs. 30/kg. In what ratio both
sugar should be mixed so that there is no galnhoqjoss when the mixture is sold at Rs. 32/kg ?
A 1:4 (B) 2:1 [(C) 3:1 _ (D) 4
77. 3 0 F TR BT ST 3:4:6 &, T HR G AN U T FW W T A1 A 1 STIIE 17 ?
The ratio of speed of 3 cars are 3:4:6. What is the ratio of time taken by these cars to cover the samé
distance ?
(A) 2:3:5 " (B) B:4:6 (C) 6:4:3 (D) 4:3:2
.\ = P .
Q'\*s“ASArH{
S %
2l _THE
AT @ Watermarkly
L) 2
+,%hm“\po @ CamScanner


https://v3.camscanner.com/user/download

79.

81.

A@m‘lﬁesﬁﬁrﬁaﬂm%aﬁm A 1 G H 40% e vt &, o seft e =1 v § B3
fag e el = Sem @2 ;
(A) 49 T (B) 40 f= (C) 60 f& (D) 45 fe&A

Acando a piece of work in 63 days and B |s 40% more efficient than A. Then the number of days taken
by B to do the same work is :

(A) 49 days (B) 40 days o

(C) 60days (D) 45days

Ife 6 BEI &1 3ET YR 50 foFm &, 2mﬁrmaﬂmm53m% 3R 2 B 1 3irEd wr 55 fem €,
T B o SfEd WR R

(A) 51.6 fom (B) 64 fHm ; (C) 52.5 f&m (D) 55 f&m

If the average weight of 6 students is 50 kg; that of 2 students is 53 kg; and that of 2 students is 55 kg;
then the average weight of all students is :

(A) 51.6kg (B) 64kg (C) 52.5kg (D) 55kg

30 "t 1 3iEd 1.2 ¥ 1370 9 gt 20 1 30Ed 1.1 § 3R erra 9 o1 3ia 1 2, df it demn s 82

The average of 30 numbers is 1.2. The average of the first 20 of them is 1.1 and that of the next Qis 1.
Then the last number is : P ™

A) 5 (B) 46  :

(C) 4.9 (D) 4

T fifea st w2 a9 & faw 5% aﬁ;va_tﬁammezao T ¥, o g e e 82
The compound interest on a certain sum of money for 2 years at 5% is Rs. 3280. Then the sum is :
(A) Rs. 34000 (B) Rs. 30000= ~ (C) Rs. 36000 (D) Rs. 32000

50% IR 40% 1 i+ g2 fhat WQE% T E?
Successive discounts of 50% and 40%-equal a single discount of :
(A) 48% (B) 60% (C) 20% (D) 70%

12,000 ¥ T 9 e % faw 20% 9 o =t < | wehafs =, Hhgfe = A9EF € :

The compound interest on Rs. 12,000 for 9 months at 20% per annum, interest being compound
quarterly is :

(A) Rs. 1750 (B) Rs. 1891 50_:. (C) Rs.2089.70 (D) Rs.2136

FeE FI BigH 99 F 1 66 ﬁ?ﬂ/ﬂa%aﬂtwﬁaﬂm%mawﬁﬂﬁﬁﬁnﬁm% ﬁmﬁtﬂ,ﬁﬁ
fip e ool 7 £l

Excluding stoppage, the speed of bus E‘.E‘_a km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min ? -

A) 10 (B) 15 _ () 19 (D) 20

Waﬁﬁ%oooowﬁﬁwﬁmaﬂtﬁﬂ@@ﬂﬁ I I HT 10% F A R SR M H 5% H
aﬁméaﬁmmﬁmtﬁéﬂéqmwommﬁm% S H T T @ et ?

A man bought a horse and a carriage for Rs. 80,000. He sold the horse at a gain of 10% and the
carriage at a loss of 5%. He gained 1% on his whole transaction. What is the cost price of the
horse ?

(A) 20,000 (B) 30,000 (C) 32,000 (D) 18,000
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86. UF WREITH AEE W, A T WA F 1/6 % For goit o1 1/6 w1 P A B, B F A % 1/4 F ferg
it 1 1/4 mﬁ&mm%eﬁ’r{cmwﬁgkm%mﬁﬂrm% AT 1940 &3 & @14 H B 1 faam
feraT §2
In a partnership business, A invests 1/6'" of the caputal for 1/6 of the total time, B invests 1/4!" of the
capital for 1/4 of the total time and C, the resl of the capital for the whole time. Find the share of B, out
of a profit of Rs. 1940. ;
(A) Rs. 180 (B) Rs. 200 ' *{C) Rs. 120 (D) Rs. 160
87. AR faFag@ =+ 7% mw#a%ﬁ:waﬁwﬁﬁﬂwm 9% T4 Hd Tl 2 T4 ¥ 10% Afs
T, O %9 g iR o gog S ]
g?% of S.P. is equal to 8% of C.P. and if 9% of S P. is Rs. 2 more than 10% of C.P, then find G P.and
P
(A) 800, 950 (B) 350, 700 (C) 350, 400 (D) 700, 800
88. 39 =Afad wfafe 10 ¥ W Feh 12 ferfl H U G =1 7o & 6 €, a1 30 =t wfifed 6 52
&t H &l foeaa Tl 3 @ 8?2
(A) 15T (B) 20 feA _(C) 26fw (D) 14 f&
39 persons can repair a tunnel in 12 days workmg 10 hours a day. In how many days will 30 persons
working 6 hours a day complete the work ? 7))
(A) 15days (B) 20days —(C) 26days (D) 14 days
89. TE WAN wEI T fowd 990 37K 1330 =1 fawiferm w0 T ww: 6 3 10 AvEA W Ba ¥
The greatest number which divides 990 and1330, leaves remainder 6 and 10 respectively is :
(A) 20 (B) 24 & "{C} 35 (D) 15
90. 0.7, 0.35,1.05 1 A.9.9.(HCF) ¥ ifs | =-=_ N
Find the HCF of 0.7, 0.35,1.05. s
(A) 1.005 (B) 0.07 () 07 (D) 0.35
91. T A 79.2 fft/=a &t 7y A 5@ @ 2, 7€ 7 s T TH @Y & IR F 'c?t'aqm"rfmimﬁ
wifeg |
(A) 150 #t (8) 118 =t (C) 126t (D) 154 ¥
A train is running with a speed of 79.2 km/hr and] it crosses a pole in 7 sec. Then find the length of the
train.
(A) 150 m (B) 118 m __)(C) 126 m (D) 154 m
92. f forelt axg W o Y | 40% Wﬂﬁﬂﬁﬁ%Iﬂﬁaﬁﬁ? mmmxﬂfoﬁyﬁm% o 12%
=1 Sifam sy wra 2 ®) mqﬁwaﬁaﬁmmqmzmum%ﬁu%mmﬁm% 3 TE TG
=1 Tasra gea = € =nfew ?
An article is marked 40% above the cost pnce If a discount of x% is given on the marked price of the
article, then a final profit of 12% is obtained.(Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price e of that new article ?
(A) Rs. 3,480 (B) Rs. 2,400 (C) Rs. 2,480 (D) Rs. 2,880
93. 300 I =1 fomd qed, 500 Tgeill & H4 god & WK g, A1 & a1 @ ufaem s Hifsd |
S.P. of 300 articles is equal to C.P. of 500 articles. Find the loss or profit percentage.
(A) 24(2/3)% (B) 25(2/3)% (C) 72(2/3)% (D) 66(2/3)%
MYZ-24 RN 12
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86.

87.

T HRIEH Eu §, A F w9 % 1/6 % fore it w1 1/6 v Fraw e €, B $ WA % 1/4 F fom
gSit T 1/4 wmm%mcw@@wimﬁéﬂm% a1 1940 98 & =19 H B 1 femy
fepam 82

In a partnership business, A invests 1/6!" of the capntal for 1/6 of the total time, B invests 1/4'" of the
capital for 1/4 of the total time and C, the rest of the capital for the whole time. Find the share of B, out
of a profit of Rs. 1940. _*w'

(A) Rs. 180 (B) Rs. 200 ' *{G) Rs. 120 (D) Rs. 160

uﬁﬁwwmmma@%mﬁ:weﬁh‘aﬁﬁmn@ms%MWTﬂEMﬁm%affém
T, 9 O g iR g e T AL -
Ii?%ofSP|sequa|t08%ofCPandlfg%ofSPis Rs. 2morethan1ﬂ%0fCPthenfdePand
SP.:

(A) 800, 950 (B) 350, 700 (C) 350, 400 (D) 700, 800

39 =afi gfafes 10 He o otk 12 Tl # U g1 i 70Hd F Hhd €, 91 30 =afa yfafed 6 €9 F
w0 Hd @ fpat Al § e ?

(A 15 fe= (B) 20 f&a (C) 26 fa (D) 14 f&A

39 persons can repair a tunnel in 12 days workang 10 hours a day. In how many days will 30 persons

working 6 hours a day complete the work ? ¢
(A) 15days (B) 20days =; {C} 26 days (D) 14 days

9% oy 9ot de f5ad 990 7w 1330 aﬁﬁu@amﬁmm. 6 3 10 Yuwe wTE Bl ¥

89.
The greatest number which divides 990 and1330, leaves remainder 6 and 10 respectively is :
(A) 20 (B) 24 -—TCJ 35 (D) 15

90. 0.7,0.35,1.05 1 9. 9.9.(HCF) I shiferg| | —;
Find the HCF of 0.7, 0.35,1.05.
(A) 1.005 (B) 0.07 {C} 0.7 (D) 0.35 _

91. UE 3 79.2 feti/da = 7fq A ww W@ B, 95 7 ¥HS H TF GH H W FW@ g, A T B AR 79
Eqied]
(A) 150 #t (B) 118d (C) 126 #t (D) 154 ¥
A train is running with a speed of 79.2 km/hr and it crosses a pole in 7 sec. Then find the length of the
train. :
(A) 150 m (B) 118 m : (C} 126 m (D) 154 m

02, afz fordl o WA o4 | 40% aqﬁzaaaqﬁm%mﬁam% i I Wx% ﬁ?{iaﬁlﬁ% dr 12%
=1 3ifere T 9T B ¥ | wﬁwﬂéa@mwuﬁa 2,400 TY3 ¥ 3 x% T aifeq &, & 36 % 99
w1 forspa o4 1 211 =6 ?
An article is marked 40% above the cost prlce" If a discount of x% is given on the marked price of the
article, then a final profit of 12% is obtained.(Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price of thal new article ?
(A) Rs. 3,480 (B) Rs. 2,400 (C) Rs.2,480 (D) Rs. 2,880

93. 300 FEgaHi w1 fopd Wed, 500 TS & 9 Ed H TUK &, 7 T =1 A WA 9 Hif |
S.P. of 300 articles is equal to C.P. of 500 articles. Find the loss or profit percentage.
(A) 24(2/3)% (B) 25(2/3)% (C) 72(2/3)% {D) 66{2!3)%
—_—————————rr e e fom' (| AT P oot U i P o T e B i Pt R
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94, U faenedl 7 6 YH-TH 1 wlian | YIS TH-1F % fAw aifusran i ThwEE ¥ 139 we-vs # 39
I 5:6:7:8:9:10 & ST H § | oI (AR ST 60% i Wia fhu | 367 fora? -t o aifersram
3 & 60% U FH 3w wra fpw ?
A student appeared in 6 papers. The maximum marks are the same for each paper. His marks in this

paper are in the proportion of 5:6:7:8:9:10. Overall he scored 60%. In how many papers he received
less than 60% marks ?

(A) S (B) 2 (0)- (D) 4
g5, RIS 1 TF iR et fremef/ frewd w1 o @ S i w9 F uronsi w1 e/ STe w8
gRomg ;| msﬁm%ﬁm%wm#w@%l
I S 3 A )

frems: 1. G SE W e § -
2. dimrgw Al el
(A) 7 Frepd 1 SiR T & 2 STy €
(B) o fiehd 1 ST N ©
(C) THi frerd egw %4 ¥
(D) o Frend 2 TTH FH ¥
Read the assumptions and select the best conc1usronsfconclusnon that follow/follows the assumptions
definitely. A
Assumptions: | Ajay is the father of Shréyéé. Suraj is the brother of Shreyas.
1. Seema is the mother of: Shreyas
Conclusions: 1. Seema is the wife of Ajay. -~
2. Seema is the mother of Suraj
(A) Neither Conclusion 1 nor 2 follows
(B) Only Conclusion 1 follows
(C) Both the Conclusions follow
(D) Only Conclusion 2 follows 5o
9. alfA%B=A+B—1,W10%2FNE?
IfA%B=A+B—1,whatis 10% 2 ?
(A) 20 (B) 5 (C): 11 (D) 12
97. 200 TH F WAL & UR T, 140 D I Fice FEa0 T &, 120 DE1 *1 fHehis 16 1, ai’naoma’t
1 M1 TS T | R B | TE 0 TS € 2 |
Based on a survey of 200 students, 140 students like cold drinks, 120 students like milkshakes, and
80 students like both. How many students like at'least one of the drinks ?
(A) 180 (B) 75 (€)- 200 (D) 140
98. Heifyd ¥=% =1 a1 @ |
A o (B) wUTEH _(c)'-. AT (D) =W
Find out the related word. .
Surgeon : Scalpel :: Carpenter : ?
(A) Saw (B) Computer (C} Camera (D) Brush
99, frafafed v ¥, mﬁqmm#mawammﬁqm%lmﬂﬁ@?waﬁﬁnwm%mﬁ
1 I9ATT HH qﬁmmm%lwwaﬁmﬁl
fe T vreg : “MACHINES”

In the following question, you'll find four other words provided alongside a given word. One of these
words cannot be formed using the letters of the given word. Can you identify that word ?
Given word : “MACHINES”

(A) CAMEL -(B) MESH (C) SEAM (D) NAMES
MYz.24 13 P.T.O.
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100. Frefafas STFT F TH | St B S STF A] AH a1A J9H F TR |
RK59#B2%" E'?AM&;MS\!?ICBN@HHE&D
@ Tl sjEen § avven e i Y : 5#2, 778, $4V, o)
Examine the following sequence closely and respond to the questions that follow.
RK59#B2%" E?ABL$I4SV71GGN@H13&D

Determine the next term in the series : 5#2, *78, $4y
(A) He# (B) le@ (C)“H1& (D) L8%

101. Hsfya vsg @ - L
e : Sy Tt 2 : < =
(A)  wEEgHS () =@ (C) T (D)
Find out the related word : '
Triangle : Polygon :: Square : ?
(A) Rhombus “(B) Quadrilateral (C) Circle (D) Rectangle

102, ‘3 =1 W I SN F@ g wedf v M, Wwﬂﬁ “4 el Yhe ML T F Aread € 2

(A) HTEE RN H g T

(B) IRl 1 HE
(C) T &1edi | arm T .
(D) SAIUY F T UFHS T - %
In the context, “They were caught red-handed tryin g to. steal what does “caught red-handed” impl:
(A) Foundinjured _j_ '

(B) Actof kindness A
(C) Found with red-hands

(D) Caught in the act of committing a crime

103. T S 10 HX T T L, e 20 TR 7 I T, R 20 T S TN L, A
10 HieX X AR Jardl € 1 98 Y& & 319 7o fopail g =l T 8 2
(A) 25 HX (B) 45 HiX (C)-. 2atnat (D) 51 HiX

A person moves 10 meters north, then 20 meters to 1he right, then 20 meters to the right once moi
then 10 meters to the right again. How far has he gone from the beginning ?

(A) 25 meters (B) 45 meters (C}bef 28 meters (D) 51 meters
|'.-_4|\ .|
104. < T F@en § g A8’ THE A B : rjj-‘_-lb
Find the missing letter cluster in the given series :[» )
BYHN, CWKM, EUNL, _LQmy f )
(A) GSPK (B) GRPK () ;_IjSQK - (D) HRPQ

105. sj@en § < G&A (A 3T B) F1d Y 3B — A F1 A F10 FX |

Find the missing numbers (A and B) in the series and find the value of B—A.
11, 22, 33, A, 55, 66, 77, B

(A) 33 (B) 44 (C) 55 (D) 88
MYZ-24 14
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106. 59 foepea o1 Gf formd Tt st wely 1 | Fl € St fa T den g g e e e R

Select the option in which the numbers share the same relationship as that shared by the given pair of
numbers.

12:20
(A) 25:57 (B) 34: 31 (C) 19 -33 (D) 30:42

107. af% W3 ‘RECONCILE’ % 44, 59, ﬁaﬂisﬁamaqmpﬁwaﬂmmwmmmm%
a@mmmﬁmﬁaﬁﬁwaﬂﬁmmﬁy (A

(A) WR (B) TH (C) a‘r“ (D) @

If a meaningful four letters word can be formed from- the 4th 5th 7t and 8" letters of the word
‘RECONCILE’. Using that letters how many meanlngful words can be formed ?

(A) Four (B) One (C) Two (D) Three
108, AfE 319 T& T AR e & TS & 3270 f@ﬁﬂl‘qﬁﬁ‘{qﬁﬁ% A o1a 219 fapg fomn &1 3R e ek @8
g7
@A (8) ufm (C) < (D) W
If you start facing East and turn 270 degrees anticlockwise, what direction are you facing now ?
(A) East (B) . West (C) South (D) North

100. Freiferfian H F FI7 1 SHA qH Y AT §? R

Which of the following sequences is different from the =__si' ?

a. 1,4,9,16 b. 1,827, 64
c. 26,1223 d 1,16,81,256 =
(A) 1,16,81,256 (B) 1,4,9,16 (C) 1,8.27,64 (D) 2,6 1223

110. 39 i 1 ve=H o et & 7 F € fj
Identify the figure that completes the pattern.

I?

(X)

(A) % (B) % f"f (D) %

| l‘_
M. frofafa o ¥ % 1 T Hfeens, Tmmsit ol frei S deisdl #1 Fog o= &0 | qwial €7

Which of ‘the tollowmg diagrams best represents the relataonshlp between Women, Mothers and

w-.
H!'_,l'

Fathers ? O
A) QOO (B) @O (©) @ .
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112, = e T SR I S orTER st 2006 S 2007 % A T YR HUt H € AR @ T 5

el

-

113.

114.

115.

116.

fasht (1000 =it d&m ) <ufar 2

The bar graph given below shows the sales of‘books (in 1000s) from six branches of a publishin
company during two consecutive years 2006 aqd 2007.

2006 3iR 2007 ﬂﬁwmﬁaﬁwwaﬂ} A1, A2, A3, Ad, AS 3R A6 § JEIH! I forsht (Tom

H = H) ot
Sales of Books (in thousand numbers) from Slx Branches A1, A2, A3, A4, A5 and A6 of a publishing

Company in 2006 and 2007. N

120 408 110

100
80
60
40
20

0

A1A2A3A4A5As'_

-"_—!-=

m2006 @ 2007 RN |
31 Tt & fog wman A2 ﬁgﬁﬁaﬁwﬁaﬁﬂ?mwmﬁwﬁﬁ@mwﬁ
What is the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for botl
years ? = .
(A) 5:7 (B) 8:9 : (g) 7:9 (D) 6:7

s fafem e 9 H, ‘FLOWER' i RFOELW Eh Ecrﬂ fer fora s &, @ ANIMAL 31 59 W fere
ST - g

In a certain code language, ‘FLOWER'is coded as ‘F{FOELW' then ‘ANIMAL’ will be written as :

(A) LAJDNM (B) LAIANM (C) LANIAM (D) LANJAM

s ffEm ey, N = Y, 'S'H D, 'R FQ, 'O’ B P, I F K, 'M &2, A FM STR'G FTS
foran < 3, & 39 FIe ¥ 'ORGANISM' % ferar smam ?

In a certain code, ‘N’ is written as *J’, ‘S'as ‘D', ‘R’'as 'Q, 'O’as ‘P’, I'as 'K’, ' M'as 'Z', ‘A'as ‘M’ and ‘G
as'S’, then how will ‘ORGANISM’ be written in that code ?

(A) PQMKJZDS (B) PQSMJKDZ (C} PQDZSMKJ (D) DZMSJPQK

T e T ST, I wel, mm@ﬁzmﬁmmmaﬁmﬁmmwﬁma
1 # fohaa & 97 q
A party consisted of a man, his wife, his four sons and their wives and three children in each son's

family. How many were there at the party ? ™ '
A) 23 B) 18 ?’(c 20 (D) 22

}
w fown g« 93 1, w few =i @ e g, 135 ﬁmwﬁm%mﬁwaﬁaﬂﬁﬁnﬁmmﬂ
2fequr-ufam fora fem & gm 2 A
A (B) IW (0) Sw-ufam (D) SW-Td
In a compass every direction is rotated to 135 degrees from the original direction. In which directiof

will South-West be if the rotation took towards clockwise direction ?
(A) East (B) North (C) North-West (D) North-East
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112, = foan T aR me < emar =wf 2006 aﬁtzoOTﬂ??ﬂ'ﬂqﬁmﬁmaﬁ%Wﬁﬁw¢I

115.

116.

foht (1000 =Y W ) <vifar &1

The bar graph given below shows the sales ofbooks (in 1000s) from six branches of a publishing

company during two consecutive years 2006 and 12007.
2006 3R 2007 ﬁﬁwmﬁwwﬁ A1 A2, A3, Ad, A5 3R A6 T Tiahi bl fershl (T

&I & H) ko
Sales of Books (in thousand numbers) from Slx Branches A1, A2, A3, A4, AS and A6 of a publishin

Company in 2006 and 2007.

120
105 110

100
80
60
40
20

0

A1 A2 3 4 A5 6
B 2006 @ 2007
31 anuf % WWAzﬁwﬁﬁwﬁaﬁémwm %I o fast | ST = 8 ?

What is the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for bott

years ? 3 :
(A) 57 (B) 8:9 L {Q) 78 - (D) 6:7

. U Fifem e s ‘FLOWER'aﬁ*HFOEwa%;%qﬁ@-ﬁamw% A 'ANIMAL’ 1 39 TR fora

ST :
In a certain code language, ‘FLOWER'is coded “as ‘RFOELW’, then ‘ANIMAL’ will be written as :

(A) LAJDNM (B) LAIANM (C) LANIAM (D) LANJAM

. TE Rl d, N, S F D, R A QO F P, THK, M FZ, AT M ARG S

forar STan €, 39 e # ‘ORGANISM' &4 fe@r s ?

In a certain code, ‘N’ is written as *J', ‘S’as ‘D', ‘R'as ‘Q’, ‘O’as ‘P, I
as ‘S’, then how will ‘ORGANISM’ be written in that code ?

(A) PQMKJZDS ~ (B) PQSMJKDZ (C) PQDZSMKJ (D) DZMSJPQK

T U H U SeH, S I, m%wa%aﬂtmﬁwmaﬂtmé%%qﬁmﬁ?ﬁﬁﬁwﬁﬁﬁ
g § fra S 9 2 e

A party consisted of a man, his wife, his four _sons and their wives and three children in each son's
'1“1i

family. How many were there at the party ? ™
(A) 23 (B) 18 - (Q;) 20 (D) 22
ww fogn 9= 47 9, T e &1 ga faan 4, 135 %ﬁwwm%mﬁwaéaﬁmnﬁmmaﬁ
<faqor-afem foa faen & g 2 _ N

A (B) IW (C) SeR-ufem (D) Sw-yd

In a compass every direction is rotated to 135 degrees from the original direction. In which direction

will South-West be if the rotation took towards clockwise direction ?
(A) East (B) North (C) North-West (D) North-East

as'K',‘M'as‘Z,‘A’as ‘M’ and ‘G
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117. @ T Een ¥ F 0T F G2

Find the odd one from the given series :
4, 16, 36, 64, 100, 121, 196, 256 s
(A) 256 (B) 36 . {C) 121 (D) 100

118. Q@ FLA1, 12, 144, ..., 20736 I FSIUI —~
Find the missing number 1, 12, 144, ..., 20736,

(A) - 1287 (B) 1728 m.(C) 1278 (D) 1782
119, 2 9= TLBSBEAKLA ¥ S1ell 31 qrefafield st U el 1 1 ST S 8, 1 e & 7 & ad 9%
¥ T3 &R F1 ERM ? I

If the name of a game is formed by rearranging the letters of the word TLBSBEAKLA, then what will be
the sixth letter from the right end of the name of the game ?
(A) S (B) E <c T (D) B

120. = Tz @S |
Find the dissimilar word.
R54, W68, U63, L36, Y75
(A Y75 (B) Wwes —(C) RS54 (D) Ue3

121. M, N, O, P 3l Q 9= fir &1 378 & wclish FI-3a8 STerT-37er €1 O, P 3R N J wanl § 3l Faet M 3R
Q¥ 91 ¥ 1 Faa T Al N | B 8| TSl S 8?2

M, N, O, P and Q are five friends. Each of them has a different height. O is taller than P and N and
shorter than M and Q only. Only one person is-shorter than N. Who is the shortest ?

(A) "N (B8) P 2c) M (D) ©

- =

122, forem Uk 9% TEE & o S Fraterd A efiore i g et werar | i a8 9 SN gaa € SR 2fen
el 7% 9Ea & forg 15 Hiex werar € | fe o wdt #5t fagda fewn § 90 feuft g @ ik wiwt wig 7
g % forg 8 Hie Sern , 9% o SI qe ¥ 30t v g & oy 8 et v €1 foer % s way
7 FrEiag fea fem 82 |
(A) T (B) Td p ~(C) dfEm (D) =fa&or
Lihaan walks 8 m towards South from his oafleE_e to reach park. Then he takes left and walks 15 m to

reach traffic signal. Then he turns 90 degre;g“‘aﬁti-clockwise direction and walks 8 m to reach coffee
shop, he takes left and walks 8 m to reach home. Office is in which direction with respect to Lihaan’s

home ? ’:"‘
(A) North (B) East j_-:L(C) West (D) South
Ik

123, 6 =afdi U, V, W, X, Y 3R Z § ¥, 71 71 £ b U 0 & 9w 3 =il @ oo 1 W, V & @ 8, <t S
1 RPN EIX, WA BT 1Y, U Qe 2 iR X, U D o 81 7 @ =i @ o &H €2

Among 6 persons U, V, W, X, Y and Z, it is kKnown that; U is taller than at-least 3 persons. W is taller
than V, who is taller than exactly 1 person. X is not shorter than W. Y is taller than U and X is shorter
than U. Who is 4th tallest among them ?

A X (B) V (C) U (D) W
124, 48 qey w1 1 14 T § Fawa €112 fedl § 5 qoul g1 R T FE i wrn 7@ it

48 men can do a work in 14 days. Find the amount of work done by 5 men in 12 days.

1]
i

iy

(.

(A) 7.9% (B) 8.9% (C) 13.5% (D) 9.8%
Myz-24 17 PT?)
‘?'\"»QHASA}-”{OO BRI &
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125.

126.

127.

128.

2129,

130.

131.

132.

Y@l 1, 6,23, 76, T 30Telt WA 9 HIfwQ |
Find the next number in the series 1, 6, 23, 76, .
(A) 198 (B) 237 (C),.ﬁ274 (D) 148

afg 543 + /243 = 24249%ﬁﬁ9—+15fwmw€17n?

If 53 + /243 =24.249, then what will be the value of V192 +15V3 ?
(A) 40.84 (B) 39.84 (C) ="38 84 (D) 37.84

gfe RED & UHG & &9 H wifeq foman s g, ﬁrp UE %1 fove w9 § wifeq fepar smam ?
If RED is coded as UHG, then BLUE will be '::odecLatsJ '
(A) EOHX (B) FMUH (C) “EOXH (D) EOHU

T 98 & W W AN el @ 99 wifea |
Find the number that comes in place of the questlon mark.
1:1::7:169

(A) 18 - (B) 14 (C) 15 (D) 13

Hifdies i T H 71 aoi 55 forell | w1 ifer 62 forcll | %9 %1 57 foan swiftier & demd 7 € i
= e § o il %1 a9 50 fhell & SOTET ftha 60 Thell A HH ¥ | S we %1 faar € i, 599
o 58 frel @ aﬁmﬂé’f“@m%mﬁwﬁaﬁaﬁqﬁﬁﬂﬁ% o swifds & fafvs dufag 9 =
sfaa e ®? N

In Karthik’s opinion, his weight is greater than 55 kg: but less than 62 kg. His father does not agree with
Karthik, and he thinks that Karthik’s weight is greaterthan 50 kg but less than 60 kg. His sister’s view
is that his weight cannot be greater than 58 kg. If all.are correct in their estimation, what is the average
of the different possible weights of Karthik ? 5—1_;' -

(A) 59 (B) 58 (oij___ .57 (D) 60
3 59 = F G B R e F gEE F = B B0 e o §2

What is the angle between the hour and minute hands of a clock at 3 o'clock ?

(A) 75° (B) 90° (C) 30° (D) 50°
Ife A iR B 3 T 38 WER E 5, A § a@ # §en 20 ¥, B # a 3l Hem 18 TR A ik B A §
It @ H&A 10 B, A n(A U B) T SIS |

If A and B are two sets such that number of elements in A is 20, number of elements in B is 18 and
number of elements in both Aand B is 10, find n(A.x B).

(A) 18 .. (B) 28 (C)jsa (D) 48
3ra sifee &, m(x)ﬁﬁqwmﬁaﬁﬂ-ﬁaq@ﬁrWWmﬁ

Find out which of the figures can be formed from. ﬂlﬁ pieces given in figure (X) ?

(A) [5 (B) ' (C) | (D) E

b @ Watermarkl
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133. Afear iR urd gam F9 ¥

(A) 2 It < fer e ¥ (B) S wErs q 9w siRwwd ¥

(C) =i § THepA Ul Bar ¥ (D) < Y o qre Wi €

How are rivers and streams similar ? . =

(A) Both are static bodies of water ;3__(8); Both flow downhill

(C) Both contain saltwater ‘(D) Both are found in deserts
134. fomm g+

Find the odd one out.

®) :> @ | N

135. 3T &I TS B

Find the next one.

AN
A b

(A)
136. ﬁwfﬁﬁgaa@wﬁwwﬁw@;

Identify the incorrect number in the following:series.

12,10,6,1, —8, —18 . 7

(A) —18 (B) 1 o 12 (D) 10
137, 9IG¥ T A :

oui : 9g :: Y@l : . :

(A) U (B) sTafuH (C) 3Tt (D) TEHA

Complete the analogy :
Rain : Flood :: Drought :
(A) Harvest (B) Abundance:, = (C) Famine (D) Storm

I

13, G A+B T AGERFA, BF WE S Ax B & A, B § SiRA-BH e ¥ A, B I T

I

% frefafaa 3 § SE-91 Hay g € LK F TSl 2
If A+ B means Ais the brother of B; A x Bmeans Aiis the father of B and A — B means A is the sister of

B, which of the following relations shows that | is the niece of K ?
. (C) K+¥Yxl|-Z (D) Z-IxY+K

(A) KxY+I-Z (B) K+Y+Z-—ﬁ[::;¥
139, foart i I Wi 1280 AR 1 Th-YE Th THEH o T o T A T 15 BE % A, T
e &, @ age ¥ fran fers €2 ?“
t

L )
A group of 1280 individuals, consisting of teachers and students, is attending a conference. For every

15 students, there is one teacher. How many teachers are in the group ?
(A) 85 (B) 70 (C) 75 (D) 80
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140. HF-H1 vIss WHE | T ® 2
A B (B) =# (C) T™R (D) she
Which word does not belong in the group ? ™. ¢ '
(A)  Apple (B) Cherry _9)3 Carrot - (D) Banana
141, FIE-aF F1 SAHEL H L, 59 TF F F) SGH iﬁmwﬂ?mﬁmqw@qmmm%?
(A) TRUErE (B) Yusien c" C)i ufered (D) g&Hd
What is the shape of the cross-section, when a: c_:or)e is cut by a plane parallel to its slant height ?
(A) Hyperbola (B) Parabola 'L(g_::)': Ellipse (D) Circle
142. Tipfa ® @ ®F W fFefafed § 9 sF- sngfa smei ?
Which of the following figures will come in the missing place in the below figure ?
(A) V (®) O D) O
143. T ©a H, T3% e 100 3= @ %ﬁm%m@?a"r@ T faare i afea 1 @ A g 1 5 TS
¥ R, U™ ¥ 130 37% €, afa ¥ 00 SiFHE, A F 120 37 § i fas F 110 i 1 7fe Sz 5 wee
3 UST § 30 3i% wrw fFu, @ Sifdd 2 T § SEA Rea i et ?
In a game, each player starts with 100 points. In each round, a player can gain or lose points. Afte
5 rounds, Alice has 130 points, Bob has 90 points, Charlie has 120 points, and David has 110 points
If David gained 30 points in the first 3 rounds, how many points did he lose in the last 2 'ounds ?
(A) 30 (B) 10 (C) 40 (D) 20
144. <% fasea = st snfepal @ fim 1
(A) <o s@fer (B) gdW (c)) IOl STAfERT (D) swSterT
Choose the option which is different from the rest J
(A) South America (B) Europe » @f North America (D) Argentina
145, fawd &t @< H) P
" Find the odd one. N
) o (N o
o [@)] «[&F] ©[S] o[
(&) | Q o e
MYZ-24 20
\+5“A$Ar~, 2:3
"
7
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146. T THHN AR R-Falwie S i e § wifs

147.

148.

149. T

(A)
)

(C)

(D)

R-elteroitd St Hia | W A €, Safer Tl sl Bk geet § e 9§

Wwﬁaﬂﬁﬁw%mmwﬂﬁﬂﬁ W T Gehall &, Sefeh T-Talenona
Sl | el Y g |

Feltepoita St @i aif €, sefe e ﬂaﬁaﬂmwmw%l
ﬂiqﬁmﬁqmaﬁammsﬂa’raﬁwﬂ Wwﬁwﬂaaﬁ‘a%u

A renewable and non-renewable energy source are different because

(A) - Non-renewable energy sources are denved from the Sun, while renewable energy sources are
derived from the Earth.

(B) Renewable energy sources can be replenlshed naturally over time, while non-renewable energy
sources cannot.

(C) Renewable energy sources are finite, whlle non-renewable energy sources are infinite.

(D) Non-renewable energy sources are more environmentally friendly than renewable energy

sources.

faed A, B, C 3R D ¥ & foa (X) =1 w&t si-wfafsisr g

Choose the correct water-image of figure (X) from alternatives A, B, CandD.

X ©
=
X)
-1 =) =) e
W X § ® [X_ & i i AN
mwﬁaﬁﬁaﬁ@m)aﬁmq\%l
Find out the number of triangles in the figure.
1
3/4|5\6
- 7|8
9 13
10 2 1%4_._
14 i1 16 !...‘___“*,:’
15 )
(A) 60 (B) 32 (0 39 (D) 46

ey Fod H, 25 B 3 deren e T i & s oR o1 e e | Ak SR 9 IS O

U Tl
ga‘mm% AN Y e A R A S E, A Forsyar w1 Freifeon ) & e sarven el 1 = SE F
? (C)

In a school sports club, 25 students decided to pamcupate in a table tennis singles tournament. Each
time a student loses a match they are ellmlnated from the tournament. What is the minimum number
of matches required to determine the winner ?

A 27 (B) 24 ©) 25 D) 26
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150. g fen g N dwe weel & waA & fau vl w faam st

1 o, 2023 T g 23 ¥ 28 a4 & 4|

H A A W S

W FH eo%aaﬁésqu@énmﬁﬁeﬂngﬁw

=g H 50 H q ad 25 IH (|

Ife SaficaR & 99 PG TEl &1 91 AHen afis S 95 i S ST =1e |
wﬁwﬁnmﬁwwrmqﬁm% A W GEAE  fifae Y 9= 5

wmmmﬁmmwmﬁﬁ@m% 1 "Hen e & e & 9w
EiCikd

Frfafea STHE & wmmﬁuwﬁ; o -4t HHarE =t S = ?

T FHR : M.Sc. §7 HR TEH 62% 3w & [y | S faf¥ : 10 S8, 1990 | Foger foers & w9 H
4 T 1 39 | 3G H 40% 37 9w frg)

(A) T FA9E@

(B) TIHen %% % TAEw &I e WA

(C) SHaR = VTR Hhra wee & w9 H A S ¢

(D) SwfiEER =1 S T o SR

Consider the conditions for selecting-faculty members in a computer education centre :
Age between 23 to 28 years as of November 1, 2023.

Work experience or programming experience.

Postgraduate degree in computer application with at least 60% marks.

Minimum of 25 marks in the interview out of 50.

If the candidate does not have PG, the case is to be referred to the senior faculty member.

If the candidate does not score. mlmmum marks in the interview, the case is to be referred to
principal of the institute. '

g. Ifthe candidate satisfies all other qualifications except the age limit, the case is to be referred to
the director of the centre.

Which course of action should be taken for Manish Kumar based on the following information?

Manish Kumar : M.Sc. in Computer Science with 62% marks. Date of birth : July 10, 1990. 4 years of
experience as a computer teacher. Obtamecl 40% marks in the interview.

(A) Dataisinadequate .

(B) Case is to be referred to the director of the centre

(C) Candidate is to be selected ag"a junior faculty member
(D) Candidate is not to be selectaqu"i-
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